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DERIVADAS (con soluciones)

f(X) =gx3 +§x2 —gx—S
f(xX)=x[(x+2)

f (x)=x*>O7-2X)
f(X)=(2x-5)[(4-3x)

f (x) = (-x* —2)O5x - 7x?)
f (x)= (3x*-3x*+5)*

f ()= (1= 2+ 3X° - 4x%)°

f (x)=6x>-3x"
f (x) = (83— 4x—5x?)*

f(x)=%

f =
(X) 16

x*=3x% +7x
2X+5

o= I
(3C - 2x+6)

f(x) = /X

f(x) =

1+x
f(x)=—=
(x) 1—x

f(x)=4x-5
f (x)=+/3x —4/3-x

&
3

f )= (x> - 1" 2 - ax+2f
x* +5

Solucién:

f'()() :gx2 +£X—ﬂ
2 5 7

f'(x)= 2x+2
f'(x)=-6x*>+14x
f'k)=-12+23

' QE 425 - 25% + 2&-10

f' & F &' - 3+ 55 [{48¢ - 24x)

f'X ¥ & 2+ %°- 4&° ff- 60¢ + 30x-10)

f’(x)=§

Lo =2
f(x)_(x—3)2
1='(><)=_—§3
X
3

(3-»

f' ()= 30k* —12x°

f(x) =

f' & F (3 &- 5 {-16-40x)

8x’ 5x*
frx) =2 2%
(x) 9 3

% F (- Frf 2 - a+ Frf16C - 22 +8x+3)

2X
(< +6f

&' + 20¢ - B¢ — 30K+ 35
(2x+5)

f'(x) =

f'(x) =

(& + 3F [f- 6 - 40x + 48)

f'(x) = (3(2—2X+6)3

{(x-5)°

1

f'(x) = 3 .
2/3x  2J/3-x




23. f(x) =

2x* —3x+6
) 3
24, f(x) = XX *X
(X-8)U3x—-4)
25. f (x)=&/x* -1
26. f(x) =x*++/x%-2
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2 -X*-2x-4

f(x)=\/ﬂ+‘°{/_—§

f (x)=sen (5x-3)
f x)=cos3"
f(xX)=Ln (7x+2)

f &)= cos(4-9x?)

1-x
f(x)=,—
(X) T x

f (x)=x3/3x* -1

f(x)=3/Lnx

f(x)=seni2
X

f(x)=4/2*
f &)= cos?/3x
f(X)=Ln (X*+7)

x> +1
x? -1

f(X) = x[&*

_ 2-5x°
f(x) = Ln( 4 j
f(x)=3x°

| f (X) — e(3x4—5x)2

F(x) =

Solwcién:

&' - 13° + 49¢ - 20¢- 24
(2¢ - ax+6)

f'(x) =

32- 160k +122x* — 32x° + 3x*
(X - 8)* (3x— 4)?

f'(x) =

£'(x) =§D(3 fx* -1)'s

3x?
2@/x3 -2
1 1 1
— =
V2x  3@/x? X

f' & = Gtos(5x-23)

f'(x)=2x+

f(x) =

f'(x)=-sen 3 [(B*[Ln3

7
X+ 2

f'(x) =

f' ()= 185k CBen (4—9x2)

o= [FXp 1
A o P

3x?
F()=/3¢ -1+
N3xt -1

F(x) = 3—1X fLnx) s

f &)= cosi2 [é_—?j
x* X

f' )= 2 [n 2011/ 4)

f ()= - sen ¥ [{X) 5 03/5)

on L 2X
F= 7
F1(x) = X

(2 -1
f'(x) = (x+1) [&*

—40x
2 —5x2

f'(x) =
() = 2150
F'(x=2

£'(x) = ™ tfax* - 5x) ff24c - 19



51283

44, £(x) = - 4 Bx-2)° Solueion: ¢y =~y 1505x - 2)?
X
x* —3x X* -10x+15
45. f(x) = f'(X)=—————
(x) P%—E (x) (2x-5)
46. f (x)=3% )= 3 f10x-4)
47. f(x)=3" +¢" f'(x)= 3 Bn3+e
48. f (x)=2x"%-3x7* f'(x)=-6x"*+3x"?
49 f (X) = (X2 + 2) |:I_n(x2 + 2) f'(X)z 2X [tn_+ Ln(x2 + 2)]
1-3 -
50. () ==+ (5x~2)° F1(x) = 4+ 1505x - 2)?
X
5 3 5 2 7 5 2
51. f(x) = !3x3+_4! f,()():(3x +4) [f180¢ - 422< - 68%+ &
S (5 - x)
_ 2 _
52. f k)=sen & — 1+ cos3x f'(x) = 20X (koS ¢ - 1 Ten 8
X
53. f(x) = Ln(—j gy = L
x—1 P =Sy
54. f (x)=4/sen (3x* —2x) £ = (6x3 - 2) [tos (X' - X
\/wn(3x“—2x)
—-3[Cos X
S P ="——5
25 100 snax (sen3
56. f & )=(cos2x)’ —e*™* f'(x) = -6%en 2x[{cos ¥)" - Z&*
Xt fr) = e [{sen x - cosx)
7. f = (X) 2
o T (sen)

58. 100 =Ln (" =) 100 = 2% ffin e -) »

x* -1
59. f x)=3%/2x-1 _2
) f’(x):EEQZx—l) 3

.o 60/x+3x-2

60. () = =X A

1+ x 20/x[f1+x)

X _ 2[&*

61. f(x) =S+ P =

e*+1 (e +1)
62. f ()= (X-7)2* f'(x) = (3+30Ln 20k-Ln 2
63. f(x) = log, (x* - 2x+1) 32— 2

f'(X)

T L2 - 2x+1)

X ' :‘—1
64. 1 () =log F = o)





